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(4.21) Ve = Poooe ~ Popa@ier

THS.

(16) NEig v v

Z}Ezm G e P

(4.22) A::{-(m+l)(m-l} +m

(4.23) U = ok - (1) D) E™E2 4 e (e EE2 4

o \kmo 1 B NP TRy LEEIRET A AT
ﬁ%%@ﬁcﬁﬁxmaﬁ%ﬁiﬁ%-‘

[ U, =U,=0, U

-1 =Y 1T Qperr

UZ = ng - ZEQm-—l + Qm-—-Z

(4.24) { V3 =Vy=0, Vy=-P

= 2EU,

1 — DU _, + 2EU, 5 - U

k-2

- DV,

K Vk = 2EV K2

k-1

= 2B

S,=8.,=0, 8
{4.25) '

= DBy _y = By 3) + 2E(S 5 - S 5) + R,

, (k=3,4,..,m+1)
2E(R, = B ) + S 5

-

o
tn

B

]



wd T, 0, %, S, B REkBh2. F3e.
Lk® 27.(18) X & ol Kol

m
] — T
Rm+-ly 1~ = Lkg +1-k

{4.26) o
 Rpr1¥s = kgl Vi€ 13

),;,{,,\:7‘_ ¥y %, TxoE b = &T»’fé*) Lz,

2 o=l &
;= § Wy, g;;» U1k

(4.27)

L x, = £ 1R7T i v
258 Yol = k¥mrl-k

Y (A TR €0 %, 3, Kb G4l 3.

I
1o
Ut

77

A= By, tha



